--7cm--~

A

cm3



2. AIUE @A Rut 1emd O 0, F QARG $ujo] 42
52,

@ 2 ©




® 5.3m?
@ 900000 cm?
@ Aol doj7b1.2m 1 A

r&
©

T
H

9.9
G 7127} 1m o] A27F 0.5m, 0|7} 2m o1 Z-Lm| o] B



> 7ent

-4
“10cm”

cm

/2em

~5enr

4




Mol Wol7} 169 cm?
2 cm?® YU71?

rlr rek

@ 2164 cm?

@ 2197 cm3

21 AR WA} st o] BewAel

@ 2185cm? @ 2256 cm?

3 2952 cm3

1=}
T

1



27} 5emel A-SH

ki

@

@ 7}27F 8cm, AIZ27F 9em, =0]7F 3emQl F-S-HA

Al

@ 7F27F 3ecmo]A, AI27F 6 cm, =°]7F 5em?e

© 217} 9216 em? o] AL

ofr

fvzel

7(

—_

o]7F 16 cm? @

TR

_(ZIL

B!

o



gt Aol do|7t 7em Q1 ASHA Ohet 2 BA 2] Zo]7t 14 cm
kSR IV S ELE BERET R ERE B R
=t IR b/

=R Ll



8. the AgwAle] Ru7t 1oem® L W, Yo A2l P em A
514 2.




|:3 cm

cm

b)

Cm3



10. o= =99 #u& F5HA 2.

6clm I
[ A . £ 4 |4cm
) //:: \
o il
TS ot B gy ettt &
‘\ Z . ______] -
\ 7 3cm
DR 16cm---""
@ 763 cm? @ 645cm? @ 576 cm?



